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~ Suresh started his journey from P 1o Q by his bike at the speed of 40 km/h and

, the same distance he travelled on his foot at the speed of 10 km/h from Q to R. Then

returned from R to P via Q at the speed of 24 km/h. The average speed of the M .
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Yo 6 km to reach the station from his house, then he bt
'was 60 km/h and thus he reached his de;tnnatlon
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e distance of the School and house of Suresh is 80 kr
an the normal time to J‘gve for the college, so he i
he reached to college at the normal time. What is th
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